Bilzen *** ClubToernooi *** 4 giften per ronde *** 12/06/2025

NZ OwW

gift 1 Nz OW

gift 2 NZ OW

gift 3 Nz OW

gift 4 NZ OW

1 Reynders Rina-Jacques Tonnaer 2 Lathouwers Bic-Mooren Francis 1 6 6 0 400 z3N= 3 3 170 N2S+2 5 1 -690 04N+2 4 2 =120 OIN+1
3 Schiepers Roger-Schiepers Jean Marie 4 Wils Edwin-Maesen Guido 4 9 3 3120 ZIN+1 3 3 170 N2S+2 1 5 1440 O6N= 2 4 -140 W2S+1
5 Jorissen Wilma-Plusquin Philippe 6 Vandebosch Jos-Ghijsens Stijn
3 7 0 6 90 zZ1N= 0 6 120 N2N= 1 5 -1440 O6N= 0 6 -150 OIN+2
7 Jans Hendrik-Briers Renata 8 Geurts Jos-Schrijvers Lode
5 Vranken Jef-Lieben Marie Jeanne 10 Bye 8 5 3 3 120 z2N= 6 0 650 Z4s+1 5 1 -690 04N+2 6 0 200 wW2s-2
Bye
NZ OW |gift 5 NZ OW gift 6 NZ OW gift 7 NZ OW gift 8 NZ OW NZ OW |gift 9 NZ OwW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW
1 5 4 2 90 Z1N= 2 4 110 z2H= 6 0 150 NIN+2 5 1 140 z2s+1 1 4 0 6 -680 O4H+2 5 1 100 02s-1 3 3 480 Z4S+2 4 2 140 z2s+1
Bye 9 7 6 0 530 z3s!= 0 6 -110 02s= 3 3 480 Z4sS+2 4 2 140 z2s+1
3 6 2 4 -100 z2N-1 4 2 140 z3H= 0 6 -300 Z5K-3 0 6 -50 N3N-1 3 5 4 2 170 z25+2 2 4 -100 Z2R-1 3 3 480 Z4S+2 0 6 -300 z4s5-3
74 6 0 120 Z2N= 0 6 -150 Z6H-3 2 4 -150 OIN+2 2 4 110 z2s= Bye
2 9 0 6 -200 Z3N-2 6 0 420 z4H= 4 2 -100 z3K-1 5 1 140 z1s+2 8 2 2 4 140 z2S+1 5 1 100 02s-1 3 3 480 Z4S+2 4 2 140 z2s+1
NZ OwW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OW |gift 17 NZ OW gift 18 NZ OW gift 19 NZ OW gift 20 NZ OW
2 7 4 2 -100 z1K-1 5 1 100 O2R-2 0 6 -800 N2S!-3| 2 4 -630 W3N+1 4 8 2 4 -130 W3R+1 0 6 -420 W4s= 3 3 450 N4S+1 0 6 -110 O3K=
Bye 2 6 4 2 =120 WIN+1 4 2 -200 z4H!-1| 3 3 450 N4S+1 6 0 170 N3H+1
8 6 1 5 -200 Z3R-2 5 1 100 OIN-2 6 0 -100 N2K-1 2 4 -630 W3N+1 1 9 6 0 50 WIN-1 2 4 -230 W3S+3 0 6 -100 N4s-2 2 4 -100 N3H-1
3 4 6 0 -80 WlH= 0 6 -110 O2R+1 2 4 -200 N1IN-2 2 4 -630 W3N+1 7 5 0 6 -180 WIN+3 6 0 140 Z3H= 6 0 480 N4S+2 4 2 140 N2H+1
5 9 1 5 -200 Z1N-2 2 4 -90 O2R= 4 2 -110 O2H= 6 0 -210 W2N+3 Bye
NZ OW |gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW NZ OW |gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 Nz OW
3 9 3 3 -110 wW2H= 0 6 -170 02S+2 5 1 -620 0O4s= 6 0 -110 w2s= Bye
Bye 3 8 4 2 -50 N1s-1 1 5 =170 W2S+2 4 2 130 z3K+1 1 5 -450 O4H+1
2 5 6 0 200 W3N-4 6 0 300 O2H-3 2 4 -630 O3N+1 4 2 =130 O02K+2 9 6 2 4 -100 N2S-2 1 5 -170 W3S+1 0 6 -50 Z4K-1 5 1 -420 O4s=
1 38 3 3 -110 W2H= 3 3 -150 Z2H-3 5 1 -620 04s= 1 5 -400 O3N= 2 4 0 6 -120 OIN+1 4 2 -110 wW2s= 6 0 800 O3N!-4| 1 5 -450 W4S+1
6 4 0 6 -140 W2H+1 3 3 -150 W2N+1 0 6 —690 O4N+2 1 5 -400 O3N= 71 6 0 90 NIN= 6 0 100 wW3s-1 2 4 90 Z2K= 5 1 -420 W4s=




